spieler Arno

kenntBall= e
kenntTorGegner= e
kenntEigenesTor= e
kenntGegnerl— e
imBallbesitz= Wahr
mannschaft= "GER"
name= "Arno"
position= "RM"
trikotNummer= 10

graetsche()

jubele()

laufe()

nimmAn(derBall)
zettelErstellen(derBall, mitSpieler)
schiesse(dasTor)

spielerBert

kenntBall= e
kenntTorGegner= e
kenntEigenesTor= e
kenntGegnerl= e
imBallbesitz= Falsch
mannschaft= "GER"
name— "Bert"
position= "ST"
trikotNummer= 11

ball
xPosition—40

torSuedkurve

breite=7.32
hoehe=2.44
xPosition=100
yPosition=30

yPosition=15 drin(derBall)

zPosition=4

setzeXposition()

setzeYposition()

setzeZposition()

torNordkurve
breite=7.32
hoehe=2.44
xPosition=0
yPosition=30
drin(derBall)
spielerChristiano

graetsche()

jubele()

laufe()

nimmAn(derBall)
zettelErstellen(derBall, mitSpieler)
schiesse(dasTor)

kenntBall= e
kenntTorGegner= e
kenntEigenesTor= e
kenntGegnerl= e
kenntGegner2—= e
imBallbesitz= Falsch
mannschaft= "ITA"
name= "Christiano"
position= "IV"
trikotNummer= 9

graetsche()

jubele()

laufe()

nimmAn(derBall)
zettelErstellen(derBall, mitSpieler)
schiesse(dasTor)







